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Note :
(i)  All questions in both the sections are compulsory,
(i)  Marks for questions are indicated against each.

(i) Questions Nol and13 are very short-answer questions carryibgnark for each
part. They are required to be answered in one sentence each.

(iv) Questions No2-5 and 14-17 are short-answer questions carryiB@gnarks each.
Answers to them should normally not excé@avords each.

(v) Questions N06-9 and 18 -21are also short-answer questions carryignarks
each. Answers to them should normally not ex@@aslords each.

(vi) Questions Nol0-12and22-24are long-answer questions carryiggnarks each.
Answers to them should normally not excé@dwords each.

(vii)  Answers should be brief and to the point and the above word limits should be adhered
to as far as possible.

(viii) All parts of a question should be answered at one place.
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1. Answer the following questions : 1x4
() Define marginal opportunity cost.
()  Whyis a production possibility curve concave ?
(i)  State two characteristics of resources which give rise to an economic problem.
(v) Give two examples of microeconomic studies
ffeiad 99+t & SR g
() HHid FTER AFTd B aRET i)
(i) ST FWEAT W FAAA I BT 87
(i) HETee B F o At AT S onfe qHEr @ A Il 2 )
(v) =afte-anfeld Steqas & al IeELoT g |
2. Give meaning of (i) demand, (ii) normal good and (iii) inferior good.
(i) @, (i) | gy oo (i) afear awg & o qaEu)
3. Explain the effect of ‘input price changes’ on the supply of a good.
‘STl ! Al § IR & 9% @ i 9 YIS I SATEAT i |
4. Explain the relation between marginal revenue and average revenue.
qmiq duiia iR off|a duiid & & @y qHeey |

5. Draw Average Total Cost, Average Variable Cost and Marginal Cost curves in a single
diagram. 3

TF & W@ | e Ja A, ofEd IRadd e adm 9 dnd 99 @it |

For Blind Candidates only in lieu of Q. No5
Haq ghedq qdeniial & Mg 9 @ 5 @ ™| W

When is supply of a commodity said to be (i) elastic, (ii) inelastic and (iii) perfectly
inelastic ?

&g N g (i) TEER, (i) IJEEEr 7 (i) qoraar SaPer H Hel A E 2
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6. Price of a good rises from Rs. 10 per unit to Rs. 11 per unit. As a result quantity
demanded of that good falls by 10 percent. Calculate its price elasticity of demand.
OR

A consumer buys 70 units of a good at a price of Rs. 7 per unit. When price falls to Rs. 6 per
unit, he buys 90 units. Use Total Expenditure Method to find whether the demand for the good

is elastic or inelastic.
TF q% B BEA 10 T I HE T GghL 11 6. I B & Al & | IROTEEEd 59
F&g H AT 10 gfaed fR S &1 6T @ @a @ w1 aRead Hig |

rgar
T TUHRRN 7 5. Ui 36 W TH a%q Bl 70 IHEAT @ET & | T SEHT BT TR
6 . U THE & WK 8, A 98 90 THISAT @IAEAT & | I8 TN HA & oy foF awg v
AT @EER & A1 JEeR, & @ fafer s )

7. Give meanings of (i) marginal physical product, (ii) fixed cost, (iii) variable cost, and
(iv) total revenue. 4
(i) dmia e e, (i) Rer (srE) @, (i) JRadsa @, T (iv) & ST &
e Ty |

8. Calculate Marginal Cost and Total Cost from the following Cost Schedule of a firm whose

Total Fixed Costs are Rs. 15 : 4
Output Total Variable Cost
(Unit) (Rs.)
1 10
2 19
3 29
4 40

TH BH P B RO AT 15 %, & AR IaH AN ST A & S 2| dEid anrd
AR FHA A T B

ECICE] FA AT
(zeprEa) (5.)

1 10

2 19

3 29

4 40
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9. How is the equilibrium price of a good determined ? Explain with the help of diagram a
situation when both demand and supply curves shift to the right but equilibrium price

remains the same. 4
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For Blind Candidates only in lieu of Q. No9
Haq ghedq qdeniial & Mg 9@ e 9 @ WM W

Explain with the help of a schedule how equilibrium price of a good is determined.

T T B QAT HEA B HERYT & BAT & 2 Uk AIGA! B Gl § qHLEy |

10. Explain the term ‘change in demand’ and represent the same graphically. Also state
three factors responsible for ‘change in demand'.

ot ¥ uRgds’ ug & ot HHsEU SR Tl l@ihd W fERu| iy dM @
ff gaew ot A § uRadw & fou SRR 9w 9w 2
For Blind Candidates only in lieu of Q. N0.10
Haa ghede TheRial & g 9 €@ 10 @ ®|H W

Explain the terms ‘change in demand’ and ‘change in quantity demanded’. Also state three
factors responsible for ‘change in demand’.

AT § qRadd SR AN @ AET § URaaT 9e & a9 SR @wesu | UE ae
FRE Al FaRT S A F uRaaw & fau SEer AW S g

11. Distinguish between ‘returns to a factor’ and ‘returns to scale’. Explain briefly returns to
scale by giving numerical examples

‘Th U F IAwd SR YA % UA%d & 9 JiaY 9d18U | S Sered
T T TE &b gfawd B HET H HEU |

12. Explain briefly three features of monopolistic competition.
OR
Explain the features of monopoly.

UHIRBRITS I & a9 faguant gaq § |8 )
T
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SECTIONB
gvs 9

13. Answer the following questions : 1x4
() What is macroeconomics ?
() Give two examples of macroeconomic studies.
(i) Whatis balance of trade ?

(v) Give meaning of balance of payments.
ffafea gei & S QT

() wHfte opiyme fhy wed § ?

(i) wuftc-enffs szl & & e R
(i) =R qU F® FAT T O?

(v) O ddad w1 3 FaEg |

14. Calculate Personal Disposable Income from the following data :

(Rs. cores)
() Personal taxes 60
() Netnational product at factor cost accruing to the private sector 600
(i)  Undistributed profits 10
(v) National debtinterest 50
(v) Corporation tax 100
(vi) Net current transfers from the rest of the world (—) 20
(vii) Current transfers from government 30
frefaiaa offeel & Jafhs gacg @ & uReed Hig -
(FIZ_ %)
() Jakes 60
(i) = &= & B9 A FRE AFd W Haw 8" S9© 600
(i) orfoaRa @y 10
(v) T8 %01 W AW 50
(v) T &= 100
V) v fam & FEaa TSa iR (—) 20
(Vi) THER A YSIaR  sEiaeer 30
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15. In an economy, marginal propensity to save is 0.2. Investment increases by Rs. 100 crores.
Calculate total increase in national income. 3

UF rfaen § €M S99 Wgfd 0.2 & IR Maw # gha 100 wE B B B
T oM H 29 arl da ghe uRefad @i

16. Give meanings of (i) cash reserve ratio, (ii) bank rate and (iii) open market operations.
(i) s Refa orqu, (i) S X 791 (i) Gl IR @ giEpansti & ot JamEy |
17. Distinguish between ‘visible trade’ and ‘invisible trade’ in balance of payments. Give one
example of each. 3
TIAH Gqad § ‘Z99 AN IR S8 AN & I A Jasy | I&H B TH-TH
ISR T |
18. What is barter ? Explain the ‘unit of value’ function of money. 4
OR
What is money ? Explain the ‘store of value’ function of money.
T § w®r oahmE 20 qE R Y B SRR B qHEEy |
AT
LA MG e - - B B B o B o (e 7 oA | el
19. Explain the ‘banker’s bank and supervisor’ function of the central bank.
B L 2 M 2 M o L A G o B e |
20. Distinguish between direct tax and indirect tax. Give two examples of each.

Tl T AN I HY F 91T (¥ Id18U | Tk & ol-al Ieredol oy |

21. Distinguish between (i) tax and non-tax revenues and (ii) developmental and
non-developmental expenditures. 4

(i) #R AR - ot & 9/ qan (i) o ok IR-faemes 2@ & 99 ofd
TATET |

22. Calculate ‘national income’ and ‘net national disposable income’ from the following data :

4, 2

(Rs. cores)
() Current transfers from government 35
(i)  Private final consumption expenditure 500
(i)  Net current transfers from the rest of the world (—) 10
(v) Government final consumption expenditure 150
(v) Netfactor income from abroad (—) 20
(vi) Netdomestic capital formation 100
(vi) Netindirect tax 120
(vit) Net exports 50
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ffafea ofwst @ U o 99T ‘Maa TSE YA9NT T & GREAT hifeTd:

(FIE_%.)
() @R ¥ TOiaY &R 35
(i) T Sifow U =9 500
(i) 99 fagg & Faa IOl s&iaeer (—) 10
(v) T SAfaH SUHET =g 150
(v) faeoi & faa wre o (—) 20
(vi) faa I oo e 100
(vi) Ed s W 120
(vii) faw T 50

23. Explain the income method of estimating national income.

OR

Explain the distinction between ‘domestic product’ and ‘national product’ on the basis of
concepts of resident and domestic territory.

UL T "9 & g fafer awemsn |
gar

oy iR T &9 @ SEumemell & SMUR WOWiE IR IR U8 Sdre
% d IR GUIEU |

24. Explain determination of equilibrium level of income through the Savings - Investment
approach. Use diagram. What changes will take place when the economy is not
in equilibrium ? Explain. 6

FIT-A FHIOT B A & qferd &IX BN (RO FHART | W@ BT GART BT |
afe srefeeer Ggd W 9 & A F1 IRadd A & 7 qHEE |

For Blind Candidates only in lieu of Q. No24
Haa giedq qheiiRial & Mg 9@ @@ 24 & ®WH W

Explain determination of equilibrium level of income by the (i) Savings - Investment approach
and (ii) Aggregate demand - Aggregate supply approach. What changes will take place
when the economy is not in equilibrium ?

(i) FEa-Fasr gitesnror @@ (i) &1 9m - wwﬁg&aﬁwmm%ﬂ—gﬁﬁ
T H MuRer aueEe | A sfdemeR §qad § 9 8 af @ uRadd ofd @
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